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5.1.2 BIEREHHERE

— MO A — R Y b A8 AT B A R A L BE ISR R X B
e, B S R 22 B 1) i — VR PRI O o 8 TR R Bt SR B S S
A5G- 5 (Mean) | HP 7 5 (Median) A (Mode) 55 . 1247 55 RIVEE A (1) B4 A fin =2 1
B LAAE AR AN B85 v S B8 — 2H SO0 2 0P A O HE B IR Ak 7 v T o2 B 5 5505 AR 800 2 — 21 K
b B R R 22 OB, T SRR R M AE 2 A3 A1 U 24 500 2 B R A b AL B A —
SE AR bR S T 0K AR BN 47 24 {8 ) 32 R 43 A 1 S e L A I o
HOR A R B0H A AR TP A s HO A TS S B A S, AR EOR: e B B {8 AR
o i o RIS, S T — 2H 0l A B vh AR R R S i i R LS A

REFH ] meanO pREON median O pR BRI 5 — 48 19 -F S 8O L %, R
H A SR K P B PR H AT DU table O pRUBOR TH5C H BRUCE OIUE0) |, 11730 4
max() sort() ,which.max () 55 pR £ £ B H: v 4 B0 K 0 5 .

LAt apply O sREC X iris K080 4R F A AR AR BEAT P S (LA AP LR 3150, A&
AR, 4 A& M 7 (B A v 2 RO BE IR AN R, R WY 4 AN @M i B s B B A A . AR
TE iris i 5 Y — A2 it Sepal. Length w38 dd % 55 450 A4 HE 7 42 20 A g, B 8L T
10 WY IBEL N 5 B & 2 0 BB R e K98, BUEC 5.1.6.3 A& AL 7 9 I, 2
L LA I EL

> apply(iris[, c(1:4)], 2, mean) # 5K S #{H
Sepal.Length Sepal.Width Petal.Length Petal.Width
5.843333 3.057333 3.758000 1.199333
> apply(iris[, c(1:4)]1, 2, median) # 3K o7 R
Sepal.Length Sepal.Width Petal.Length Petal.Width
5.80 3.00 4.35 1.30

> sort(table(iris|[, c(1l)]),decreasing = T) # 2 7 A AL
55.16.35.76.75.55.86.44.95.45.6 66.14.86.54.65.26.26.97.74.4
0o 9 9 8 8 7 7 7 6 6 6 6 6 5 5 4 4 4 4 4 3
5.96.87.24.76.64.34.55.3 77.17.37.47.67.9
3 3 3 2 2 1 1 1 1 1 1 1 1 1

5.1.3 HENEHREE

3R BCHE B HORR B 1 G T i R Uy 25 bR 25 | TP L B A X i 2 7 S R B DU 43
B 255, Jr 22 (Variance) R 150 5 — A FEAR B8 5 1 389 80 =2 ) 19 22 53 5 A fE 22
(Standard Deviation) 5K A b 1 i 22 2 75 22 B9 5 RSP 7 AR - 35 B0MT R] f) 1 h 2cdls  FG
P v 22 26 0 A1 8] 5 WA 8048 X5 i 22 (Median Absolute Deviation, MAD) J& & & B4 AH X F
S 80 B BT O 5 A B R B (Coefficient of Variation, CV) 28048 45 1 22 5 548 F 5 %
(9 AR BB B A 156 Y 45 91 8 4 I, A 52 DN R JE R 40 1) 52 I LU B W 5 I 3 Ao KK
(Quartile) WHR A PO 53037 5, AL 45 T DU 53 A2 5 o AL BORT B U 53 2 5, BT A $oE i /b 210k
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HEZ I 53 B 0Y 5547, Ab T 58— A 3 R 57 B A BRI 2 T DY 3 L8 A T8 AN ) s AL
Crp B A7 65 ) 1 51 S 80 Ak 158 = 43 31 507 8 Y 5CfB 2 b I 70432 %805 % 22 (Range)
S B o R i /DM 22 T A B W 2 /N U B 5 Al B R o

VIR applyO BRE % iris R £V varO .sdO .mad O . quantile ) #1 range ()
PRVBCTT B R AN AR B 25 BRUE 25 L L B4 D 25 L DO 8 BRI 22 L AR S AR BB A X
.

> apply(iris[, c(1:4)1, 2, var) #7 E
Sepal.Length Sepal.Width Petal.Length Petal.Width
0.6856935 0.1899794 3.1162779 0.5810063
> apply(iris[, c(1:4)1, 2, sd) # b i 22
Sepal.Length Sepal.Width Petal.Length Petal.Width
0.8280661 0.4358663 1.7652982 0.7622377

> apply(iris[, c(1:4)1, 2, mad) # Hp A7 B804 X i 25
Sepal.Length Sepal.Width Petal.Length Petal.Width
1.03782 0.44478 1.85325 1.03782

> # I bR o 2 T B TS R R R

> apply(iris[, c(1:4)1, 2, sd)/apply(iris[, c(1:4)1, 2, mean)

Sepal.Length Sepal.Width Petal.Length Petal.Width
0.1417113 0.1425642 0.4697441 0.6355511

> apply(iris[, c(1:4)], 2, quantile) # DY 3 137 0
Sepal.Length Sepal.Width Petal.Length Petal.Width
0% 4.3 2.0 1.00 0.1
25% 5,1 2.8 1.60 0.3
50% 5.8 3.0 4.35 1.3
75% 6.4 3.3 5.10 1.8
100% 7.9 4.4 6.90 2.5
> apply(iris[, c(1:4)], 2, range) # A% 2
Sepal.Length Sepal.Width Petal.Length Petal.Width
[1,1 4.3 2.0 1.0 0.1
(2,1 7.9 4.4 6.9 2.5

5.1.4 FUER D HEFE

IEZ 43 43 (Normal distribution) L # “H & 27, X & & 1 4 i (Gaussian
distribution) , & — P TEEF W HE N TR 48 G HR AR B L MR A, IEAS MK 2 ah
B W I e R ZE A X B R G 2R S R DR SRR D B i e D 8 R0 R O A
B A REAE A Gt i . A B (Skewness) J& FH 7 0 B4 3 A0 09 AS X B 8 M A} A
JE B R AR ; 0 B (Kurtosis) MPRIEZS R B WL R Bk T IR I 1E 25 53 A1 S — Fl JC D
I3 A HAR P AE T 0, 2 By 0 I SR BTEE A0 AT AR XS ARG - i R OR T 0 I BOHE 4
At 2 A i B LA 5 2 2o B /N T O 2 BRI 20 A = 7 O B0 D . 2 R O IR 2SR A I
W B T ARL A T 3. 5 IEZS A A A, YU HE RT3 I g B R, A it BB Uy L 3R ]
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s o AT v s W /N T 3 I U B /DN L 3R A3 A ith A BT ML O 20 A B3
BT iris BRI 4 A8 B0 O B AT . M A HH 45 2R T DL B, SepalLength
F1 Sepal Width P 4~4% 2 (9 585 48 4 47 1 » Petal Length 1 PetalWidth iy 224k .
E 53 BT 592 s [B) RN 5 S50 11530 0 O B2 | 0 32 0 11T & 4 RS Ok 0 AT IR . A 11030
i B2 AU B2 J5 ) - gather O ROV $i08 52 1547 A2 4, o B> A2 5 5 Ak g A7 L B 98 A0 B8
B 4 S A B AR IR I ggplot2 2l 4 A2 5 i % Bt 2 W 5-1 TR,

E > install.packages ("moments")

E > library (moments)

> apply(iris[, 1:4], 2, skewness) # 115
Sepal.Length Sepal.Width Petal.Length Petal.Width

0.3117531 0.3157671 -0.2721277 -0.1019342

> apply(iris[, c(1:4)], 2, kurtosis) #1 B
Sepal.Length Sepal.Width Petal.Length Petal.Width
2.426432 3.180976 1.604464 1.663933

> install.packages ("tidyr")

> install.packages("ggplot2")
> library(ggplot2)

> library(tidyr)

> irislong <- gather(iris[, 1:4], key = "varname", value = "value")
>4 AR 4 A
> ggplot(irislong, aes(colours = varname, fill = varname, linetype = varname,
alpha = 0.5))
+ theme bw()

+ geom density(aes(value), bw = 0.5, alpha = 0.4)

0.6
0.4 4
varname
& “ Petal.Length
2 etal. Width
2 i ‘ epal.Length
% S \_\ {1 Sepal.Width
0.2
0.0
0 2 4 6 8
value

5-1 fEF geplotO BH L H iris HIBEE 4N TENFE ML



F5E HERER

5.1.5 ZIERIHECIE

AR BE B (Similarity Measurement) f& 254 ¥ E W39 2Z (R AHDURE B2 10 B 1= L 7
REM AP BA EER AL, H A RUPE BE A A OC R 8k (8 & 2 8] ) 2205 AR )
AL R B R AR Z (R B 3 FE )

AH G FR B B I B AR i 2 (R S PR SR e A . A Zon AR R AR G o B b L R
94 Pearson ¢ R 4L . Spearman Bk A ¢ R AU HI E RELSE, Pearson A ¢ R — Mt H
T T AN IS E S 2 (B Y OC R  BUE S EEL — 1, 1], @R/ T 0, 56 B 28 4 6] f71
ARG BRAE T T — 1 SAAH DGRBS s K T 0 Ul B2 5 [A) TEAH DG BRI T 1 1R AH G P 0
Spearman FHH 5 B0 — B F 43 A AS IR IE 2543 A (978 1 4 2878 i o A5 7 i 22 TR Y
FBE M. T X T S B BCYE . Ol A Pearson MG R BTN, HERK
(Coefficient of Determination) tLFK kP F %, 2 Ml i [ A8 i 5 [N AR 68 2 A5 4 O i) i 22
TR B R E BT T 1, R0 7 A8 5 5 AR 5 2 (] 9 4H oG 14 i

ERIEFTT A corO pREUT A C R L, RAEEINZSE method= "pearson" , 1 1]
WE A method="spearman" 55 H AW I i AT . I B 4 iris ] cor O pREIT
A4 BB AR B 2 R P AH G R

> cor(iris[, c(1:4)1])

Sepal.Length Sepal.Width Petal.Length Petal.Width

Sepal.Length 1.0000000 -0.1175698 0.8717538 0.8179411
Sepal.Width -0.1175698 1.0000000 -0.4284401 -0.3661259
Petal.Length 0.8717538 -0.4284401 1.0000000 0.9628654
Petal.Width 0.8179411 -0.3661259 0.9628654 1.0000000

X T AN TR RE A 22 ] 8RR R B i 30 8 ST SRR A TR A “ BB 7, E B BRICHE B = I
TP 2 e R B B A T . TR R B SURR Sy RROJL BB 0 L 2 B e L LA 2 ] v 7 s (]
R P B 5 e I P g ] LA 3R B A AU PR RRUTL B A 25 ) ) T A AR A R b ) 20 X gy
P18 SRR 5 DR P 9 A A s 22 T ) 5 A A b 4 22 114 e KA

R F A distO BRBOH A IR L 3l i 240 method 35 & 1A LB 19 07 5, 241
“euclidean”*manhattan”*maximum” 43 51| 48 & BR [C B 55 | 2 i i 5 25 R fe KR By = i
BIOTEE . LA AR iris B S TE B A FE AR ) A BR TG EE 29, 45 3 — S XM 4 0 X FR
FEIE AT AR BB 0 s HA B | i B BN R R AR A B B

> dist(iris[, c(1:4) ], method = "euclidean", upper = T, diag = T)
1 2 3 4 5
0.0000000 0.5385165 0.5099020 0.6480741 0.1414214
0.5385165 0.0000000 0.3000000 0.3316625 0.6082763
0.5099020 0.3000000 0.0000000 0.2449490 0.5099020
0.6480741 0.3316625 0.2449490 0.0000000 0.6480741
0.1414214 0.6082763 0.5099020 0.6480741 0.0000000
0.6164414 1.0908712 1.0862780 1.1661904 0.6164414
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BT AE BRI B AR 0 0 o B i S R A R RO SR A AL R Ak B A oy TR s
J DN S OB AN S8 BRI B0 . I BICHE B 2R 1) o A R DI R O R Ay D S8 e BERL R K | Bl
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TE RIS L8R MEHA S NA £ A0 R B 4 iz B st 8 iR TE . TEXT %
NA ) BEE AT REERVERT 3% NA 253858, NI T7 BT WU AL FE R B B NA AU
. H4hRIET A NULL Al NaN SR 2R A9 504l . NULL R KMARE, B
AL BRELE) T s NaN R TR SCRY B Bl an BRECh 0 B2 Sk & NaN, =FH &
X5y A,

2. EREERIF F

RIBF ML T — Lo g 0 T 20 3 B2 (8, 3F W3R 5-2. A AF BG4 v & 15 17 78 Bl 2
1) i f7 PR D 925 2 0 summary O R, 3% bR B0 B BO8E AR B R R (5 S L T
A, 25 i AR v S A R R A B B R B S T LB is.na O BREUE B
BRAE B AL E IR B TRUE R 28R, 70 8 o] A vim 19 ager O BRI,
T8 1 AT AR vk A R RO B A B R A I
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na.omit() T I A % Bl R B 9 1T
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3. BRKERI AL IE

Xy A B (L A R L e el T 45 3 ) Tk Ak B R R R AR B G A
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o ) B3 ke O Al X 2 T A SR BRI AN R nasomit O pRBORS B BT AT 5 it 2R X8
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UG RS DI RFA

R53 ERABNAE
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55 A 42, b 7 BOCHE AR AR T TR) . 3ORE S 0 0 AT DL A0 b O s ok L G ] 5-2 BT
~e FERIET W HH boxplot O bR UK 22 il #5 4k Bl L i H boxplot. stats() bR K K il 5
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HRE RN, RIS T o028, RIS 0 1Y FE 02 R TN, SR 2B A g T4 ] — &
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2. REEMNLE

XA SR B8 S L T LR R SR 54 907 IS b AT AR T
F54 ERAREELEREE

REEAERZE i T Y
T B &5 A e (R A ELHORE AT S R(E AR A N B
B ke 2K L e S5 (AR g R L ) T e O L Ak R ) ik E AT Ak R
- H B IE AR WA W B4 T 3 B8 TR % 5
A4k B LR A S Y R 4R

52.3 SEESHIE

RIESHRIEHEELZ KN R EZEAH unique O Ml duplicated () : unique O F F 4 m]
RO LB B AE s duplicated O F T 1] £ BB HE , 3% [l — 4> TRUE F1 FALSE 1] & ,
[TRE N3 AN IP O IR R =i b S i =K

5.3 & ¥E kK

M Figtt 2R Jr 245 20 0 % 302 Fp 220 T 200X SE 5000 28 LA RE HE AT A A
I o BHE B A A 2 YR L LR A A A A R B o B 2 T U
FTRCR AR 9 5 I LA R 1 5 O A 1 5 . B R SCRT DA G JOHE A AL, O 22 1 K
TG o A R 2 T s Y TIUAL B S OR

53.1 HIE&EMEH

A B0 4R 4 BN FH 75 SR AT RS 1) Rk 1 1) & O . B 1 G O 4R 2 A B0 4 (B
PHE) A IF I —A B 0 248 i B 4 . E 2 mergeO i chindO %L, A IFZ A7,
R A5 75 B4 30 A SR HE G A SRR 5] AR B ES Ar i  BREE A Ol R — A 2 A A
A, a1 MER 2 A ID X A8 B SOM A, o] DUR 4 1D #4746 JF, X
FEHT B AE R AT AR [R] 1D /9 2 50 Bl 64T TR B 0F . MR SRR B A LR G a) L A]
DA AT ebind O b8, G 51 F 75 280 TA PR A E5008 42 X 502 75 50 A3 A (] 19 47 55 LA SO [l I
HEy

A1) G I8 1Y =PI B AR CRUR AED & 0 S 35 24T 9 8E 5 T LURE AT rbind O bR
B, A AT ZE AP B R 1A A R R A0 AR L AT RIS — i AR A B
B2 (8 B R [ L A8 D 18] G 5 Ak 2 BORR Rz Ak B 910 G ) 5 22 A 14 37 s i 4 5 4 HL AR i
4 NA,

-~
|
v

v

>Totalframel <- merge(dataframel, dataframe2, by="ID") #*ﬁf’ﬁjé’#



>Totalframe?2 <- cbind(dataframel, dataframe?2) # 1% W) & I
>Totalframe3 <- rbind(dataframel, dataframe?2) # 9\ &I

53.2 HIEFERKE

FEAR 22 50808 5 i T AR b 3 A7 R0 40 CREAS RN AR 50 B 38 B A& el S8 384, T DLl
BOE T, R G AT IR MG . RiES BABRKKRTRREE 2 BAH T4
BRI R R 5107 8 . A Crow, col iy 75 S £ 47 A1 51 5 i 3 1 748 AE 77 \NULL
W AH A5 07 SR MR AT MGl B g “==".">" L K& “TRUE”“FALSE" 4§ 4]
2 2 1k 2Ok ok OB . X BB BRG] Dy vk T R 7 ) 6 B v i T L X AR e mRE AR R AT
1A FITHERS .

BRI 2 A1 38 BT LA FH pR B4 T 400 A2 I AR B, subset O pREUE: — N R 5 L RAE 11

S

3] R, B e 2 AR R U E SR R AR AR Gl I select ZEE AL B, LA mtcars £
PR R
> subset (mtcars, cyl == 4 & gear == 3)

mpg cyl disp hp drat wt gsec vs am gear carb
Toyota Corona 21.5 4 120.1 97 3.7 2.46520.01 1 O 3 1
> subset (mtcars, cyl == 4 & gear == 3, select = c(1:8))

mpg cyl disp hp drat wt gsec vs
Toyota Corona 21.5 4 120.1 97 3.7 2.46520.01 1

transform O Al within () bR % 3 BEXF 91 48 & A7 #:4F . transform O pR AT LUTE J 4K
T HEFL Al b 3% A8 2l 1) A8 B A B — BT B9 R AE , B0 ik NULL AR 77 =00 B 51
AR A AT LI 2 A8 AR R — SE ARG Tk P R AE B, within O BREL
UASASC AT A FH T 080 HE L 3 T DUGE R HC Al 28 289 A B8, B8 R4 . L airquality 304 4R
) R BINE

> head(airquality, 2)

Ozone Solar.R Wind Temp Month Day
41 190 7.4 67 5 1
36 118 8.0 72 5 2

newagl <- transform(airquality, logozone = log(Ozone))

vV vV N B

head(newaql, 2)

Ozone Solar.R Wind Temp Month Day logozone
41 190 7.4 67 5 13.713572

2 36 118 8.0 72 5 2 3.583519

=

> newaqg2 <- transform(airquality, logozone = log(Ozone), Ozone = NULL,
WindWind = Wind * Wind, Wind = NULL)
> head(newaqg2, 2)
Solar.R Temp Month Day logozone WindWind



